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Q6. __________ is the synonym of "PERSISTENT". 
 

A. Fake B. Determined 

C. Disloyal D. Incorrect 

 

Q7. __________ is the antonym of "DEFENSIVE". 
 

A. Protective B. Aggressive 

C. Cautious D. Shielding 

 

Q8. Identify the meaning of the idiom "at the drop of a hat". 
 

A. Willing to do something immediately B. Bend down to accommodate other person’s 
views 

C. Apologies without any condition D. Give away all that you have 

 

Q9. The sentence has an incorrect phrase, which are shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
"We were all shock by Priya's failure in the competition" 

 

A. were all shocked at B. were all shocked for 

C. was all shocked D. was shocked by 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
I ___ (play)during the weekends. 

 

A. played B. plays 

C. play D. should play 

 

Q11. What is the memorial of Prime Minister Shri Atal Bihari Vajpayee called as? 
 

A. Shakti Sthal B. Sadaiv Atal 

C. Vijay Ghat D. Vir Bhumi 
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Q11. �'?(.
}I ्䵦I 
�ल -?A?0I =?�+O/I �O  }.?0� �K ]/? �A? �?$? AP? 
 

A. >]त?}-ल B. 9.P= 
�ल 

C. ==�/  ?� D. =I0 .मू? 

 

Q12. Bahadur Shah Zafar, the last Mughal emperor, was convicted by the British for his 
involvement in the Indian Rebellion of 1857 and was exiled to __________. 

 

A. Sumatra Islands B. Andaman 

C. Rangoon D. Lakshadweep 

Q12. 

-$. .J�ल @्䵞?� ?A?&J0 >?A �,0 �K 

्䵇O�K (O 1857 �O  -?0$I/ -=�KA .े䜂 >?-.ल AK(O �O  -ल� &K?I  A0?/? %? �0 �mAे䜂 
__________ -(=??-@$ �0 -&/? �/? %?। 

 

A. 9I??}? द♍=I+ 9?ू: B. 
�)??0 

C. 0��ू0 D. ल्䵌द♍=I+ 
 

Q13. Swami Vivekananda addressed the World Parliament of Religions at ___________ in 
1893 and gave the most famous speech. 

 

A. Chicago B. Tashkent 

C. Beijing D. Rome 

Q13. }=?.I -==O�?(
& (O 1893 .े䜂 ___________ +0 -=� '.? @
@& �K @
?K-'$ -�/? �0 @?@O �-@p -??# -&/?। 
 

A. म>�?�K B. ??>�� . 

C. -I]��� D. 0K? 

 

Q14. Earth Day is celebrated worldwide on __________ every year. 
 

A. June 21 B. March 21 

C. December 22 D. April 22 

Q14. +Lm=I -&=@ A0 @?ल __________ �K &J-(/? -0 .े䜂 .(?/? �?$? AP। 
 

A. 21 �ू0 B. 21 ??}� 

C. 22 /.9�-0 D. 22 
�Pल 
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Q15. Haryana has been associated with Mahabharata. According to the epic, Haryana was a 
land of plentiful grains or ____________. 

 

A. Bahudhuniya B. Bahubali 

C. Bahudhanyaka D. Bahubharat 

Q15. Aर0/?#? �? @म⹍?m' .A?-?0$ �O  @?% AP। .A?�?}/ �O  
(J@?0, Aर0/?#?, +/??्䵎 
(?� /? ____________ �ी -K-. %I। 
 

A. -:I/I)0/? B. -?:I-लI 

C. -:I/?m/?�? D. -:I.?0? 

 

Q16. The place of origin of the Mahabharata war, Kurukshetra, is proved by the findings of 
pottery, jewellery and sculpture in archaeological sites at ________, Kurukshetra, Tilpat 
and __________. 

 

A. Panipat, Karnal B. Panipat, Pehowa 

C. Pehowa, Ambala D. Rewari, Pehowa 

Q16. ________, �J y�O}, -$ल+$ �0 __________ .े䜂 +J0?$?-==� }%लK @O -.लO -.्䴾I �O  ?$?(K, �-K?#K �0 .K-$?�ल? @O 
.A?-?0$ /Jp �? �्䴽. }%ल, �J y�O} AK(O �? �.?# -.ल$? AP। 

 

A. +?0I+?, 9K0I+? B. +?0I+?, +O:K=? 

C. +O:K=?, 
�-?ल? D. 0O=?)I, +O:K=? 
 

Q17. Haryana's history has witnessed many wars when the Huns, Turks and the Afghans had 
invaded India. This was because the land of Haryana was the _________ of Northern 
India. 

 

A. Gateway B. Crown 

C. Seat of governance D. Capital 

Q17. Aर0/?#? �O  �-$A?@ .े䜂 �� /Jp AI� Aै䠂 �? AI(, $J�?  �0 
,�?(K (O -?0$ +0 �्䵅.# -�/? %?। �@? �@-ल� AI� %? ]/K-� Aर0/?#? 
�ी -K-. �m0I -?0$ �? _________ %?। 

 

A. द♍=?0 B. ??� 

C. >?90 �I 9I� D. +ूK�I 
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Q18. What is the recently announced "Water ATM Policy" in Haryana? 
 

A. To provide clean drinking water to people at 

public places in cities of Haryana 

B. To provide clean drinking water to people at 

villages of interior Haryana 

C. To provide clean drinking water to everyone in 

Haryana 

D. To provide clean drinking water to people at 

banks and post offices of Haryana 

Q18. Aर0/?#? .े䜂 A?ल AI .े䜂  K-?$ �ी �/I "=?�0 ��I�. +Q-ल@I" ]/? AP? 
 

A. :90/?+? �O  >:0ो䬂 ?े䜂 9?=��)0� }-?0ो䬂 +0 लK�ो䬂 �K }=चᩍ� 

+O/�ल �+लm/ �0?0? 
B. .I��? :90/?+? �O  �?�=ो䬂 ?े䜂 लK�ो䬂 �K }=चᩍ� +O/�ल �+लm/ 

�0?0? 

C. :90/?+? ?े䜂 9.I �K }=चᩍ� +O/�ल �+लm/ �0?0? D. :90/?+? �O  -ै䠂�ो䬂 �0 )?� 0ो䬂 ?े䜂 लK�ो䬂 �K }=चᩍ� +O/�ल 

�+लm/ �0?0? 
 

Q19. DD Haryana (Doordarshan Haryana or Prasar Bharati) has been brought under Satellite 
footprint of India. What is the benefit/advantage? 

 

A. DD Haryana will now be a paid channel under 

the recent Prasar Bharati rules 

B. DD Haryana will now be an exclusive news 

channel 

C. DD Haryana will now be available as free 

channel under DTH and will not require a local 

cable operator. (DD Free Dish) 

D. DD Haryana has now been moved out of 

Ministry of Information and broadcasting and is 

now an independent channel 

Q19. !I!I Aर0/?#? (&K0&>?( Aर0/?#? /? �@?0 -?0$I) �K -?0$ �O  @P�Oल?�� �O  +&-?्䵡 �O  �'I( ल?/? �/? AP। �@�O  ]/? ल?-/ ,?/&O AP? 
 

A. )I)I :90/?+? 
- �9?0 .?0?I )0/?ो䬂 �O  ?:? �� =P?)0� 

}P0ल :K�? 
B. )I)I :90/?+? 
- �� ==म>�� m/�ू }P0ल :K�? 

C. )I)I :90/?+? 
- )I�I�} �O  ?:? ?Io? }P0ल �O  z+ ?े䜂 
�+लm/ :K�? �0 �9�O  मल� }-?0I/ �O -ल �+0O�0 �I 
�=�/�?? 0:I� :K�I। ()I)I �I ))>) 

D. )I)I :90/?+? 
- 9}ू0? �0 �9?0+ ?�}?ल/ �O  .?/0O 9O 
-?:0 �0 /./? �/? :P �0 
- �� }=?�} }P0ल :P 

 

Q20. Why was the great Indian sportsperson Shri Kapil Dev in the news recently? 
 

A. Shri Kapil dev has been awarded the Hall of 

Fame 

B. A biopic based on the cricketer is being filmed 

C. Shri Kapil Dev is now the coach of the Indian 

National Women's Cricket Team 

D. Shri Kapil Dev is now made an Honorary 

Member of the International Umpires Academy 
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Q20. .A?( -?0$I/ -?ल?!I ्䵦I �-+ल &O= A?ल AI .े䜂 ख़?0K .े䜂 ]/K %O? 
 

A. ्䵦I �=+ल .O= �K :Iल �, ,O ? 9O 9म⹍??)0? ��/? �/? :P B. �ि�O �0 +0 �/?90? �� -?/K=+� �,ल㉍? -0?� �? 0:I :P 

C. ्䵦I �=+ल .O= 
- .?0?I/ 0?�रI/ ?/:ल? �ि�O � �I? �O  
�K} :ै䠂 

D. ्䵦I �=+ल .O= �K 
- 
�?0?��रI/ 
�+?/0 
�?.?I �? ??0. 
9.}/ -0?/? �/? :P 

 

Q21. Why is Chandigarh's Capitol Complex a tourist attraction? 
 

A. Capitol Complex was added to the UNESCO's 

World Heritage List 

B. Rebuilding and renovation has begun at Capitol 

Complex 

C. Prime Minister Shri Narendra Modi dedicated 

Capitol Complex to the nation 

D. Capitol Complex was added as one of wonders 

of India 

Q21. ?
!I�? �? �P -+�ल �Qम⹍MलO]@ +/?��K �O  ��??# �? �े䜂 � ]/K AP? 
 

A. �P =+�ल �Iम⹍MलOत9 �K /ू0O}�K �I ==�= /0K:0 �I 9}ूI ?े䜂 
�K)? �/? -? 

B. �P =+�ल �Iम⹍MलOत9 �? +I0)0�??�+ �0 0=I�0+ >Iz :K �/? 
:P 

C. �/?0 ?�}I ्䵦I 00े䜂� ?K.I 0O �P =+�ल �Iम⹍MलOत9 �K 0?�र �K 
9?=+�? ��/? 

D. �P =+�ल �Iम⹍MलOत9 �K .?0? �O  ��}/ो䬂 ?े䜂 9O �� �O  z+ ?े䜂 
�K)? �/? -? 

 

Q22. The Haryana Pension to Widows and Destitute Women Scheme aims to provide social 
security to women who are unable to sustain themselves with their own resources and are 
in need of financial assistance.The current revised rate under this scheme, effective from 
1-November-2018 is ________. 

 

A. Rs. 1000 per month B. Rs. 1600 per month 

C. Rs. 1750 per month D. Rs. 2000 per month 

Q22. Aर0/?#? .े䜂 -='=? �0 -(0?-्䵦$ .-Aल? +े䜂>( /K�(? �? �oO�/ �( .-Aल?� 
 �K @?.?-�� @J0�? �&?( �0(? AP �K 
+(O }=/
 �O  
@
@?'(K �O  �?0? }=/
 �? �J�?0? �0(O .े䜂 
@.%? Aै䠂 �0 �mAे䜂 -=mI/ @A?/$? �ी �=�/�$? AP। �@ /K�(? �O  $A$ =$?.?( .े䜂 1 (=
?0 
-2018 @O �-?=I @
>K-'$ &0, ________ AP। 

 

A. y+/O 1000 �)? ??: B. y+/O 1600 �)? ??: 

C. y+/O 1750 �)? ??: D. y+/O 2000 �)? ??: 
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Q23. A folk dance performed by the men of Haryana that dates back to the days of the 
Mahabharata is __________________. 

 

A. Bhangra B. Dhamal 

C. Raas Leela D. Dhol 

Q23. __________________ .A?-?0$ �O  -&(K .े䜂 Aर0/?#? �O  लK�K �?0? -�/? �?(O =?ल? लK� (L=/ AP। 
 

A. .?��)? B. /??ल 

C. 0?9 लIल? D. *Kल 

 

Q24. The Ektara is a musical instrument made from a piece of bamboo with a large gourd 
attached to one end. It is played with the fingers and has _______________. 

 

A. Four strings B. Three strings 

C. One string D. No string 

Q24. ��$?0? �� @
�I$ =?o/
} AP �K ??
@ �O  �� �J�)O @O ?(?/? �?$? AP -�@�O  �� -@0O +0 �� ?)? @? $Jम⹍?? �J)? AK$? AP। �@O 

�J-ल/K 
@O ?�?/? �?$? AP �0 �@.े䜂 _______________ AK$O Aै䠂। 

 

A. }?0 ??0 B. ?I0 ??0 

C. �� ??0 D. �K� ??0 0:I� 
 

Q25. The ______________ was set up in 1985 to promote Urdu language and literature in 
Haryana. 

 

A. Haryana Urdu Society B. Haryana Urdu Akademi 

C. Haryana Urdu Centre D. Haryana Urdu Literary Society 

Q25. Aर0/?#? .े䜂 �&K? -??? �0 @?-A=/ �K ???=? &O(O �O  -ल� 1985 .े䜂 ______________ �ी }%?+(? �ी �� %I। 
 

A. :90/?+? �.ू� 9K9?��I B. :90/?+? �.ू� 
�?.?I 

C. :90/?+? �.ू� 9े䜂�0 D. :90/?+? �.ू� मल�0O0I 9K9?��I 
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Q26. The ___________ is a festival celebrated in Kurukshetra district to commemorate the 
Bhagvad Gita. 

 

A. Kurukshetra Jayanti Samaroh B. Krishna Upadesh Samaroh 

C. Bhagvad Gita Jayanti Samaroh D. Bhagvad Jayanti 

Q26. ___________ �� =/LA?0 AP -�@O �J y�O} -�लO .े䜂 -�=& �I$? �ी /?& .े䜂 .(?/? �?$? AP। 
 

A. �I y्䵌O} �/�?I 9??0K: B. �ृ�+ �+.O> 9??0K: 

C. .�=. �I?? �/�?I 9??0K: D. .�=. �/�?I 
 

Q27. The Rock Garden is a popular tourist attraction in Chandigarh known for its sculptures and 
art work made purely from waste materials. The creator of this beautiful landmark is 
___________. 

 

A. Nek Chandra Saha B. Nanek Chand Sai 

C. Nek Chand Saini D. Nahe Chand Singh 

Q27. 0Q� �?!?(, ?
!I�? �? �� लK�-�/ +/?�( }%ल AP, �K 
+(I .K-$?/K �0 �ल? �O  -(.??# �O  -ल� .>AJ0 AP, �K -=>Jp z+ @O 

+->� @?.-्䵇/K @O -(-.?$ AP। �@ @J
&0 }%ल �O  -(.??$? ___________ Aै䠂। 

 

A. 0O� }�� 9?: B. 0?0� ईࠂ?9 .�{ 

C. 0O� }�. 9P0I D. 0?:O }�. म9�: 
 

Q28. The Statesman Vintage Car Rally held annually in February traverses the _________ hill. 
 

A. Sohna B. Morni 

C. Panchkula D. Sonepat 

Q28. ,0=0I .े䜂 �-$=?? }�O�M@.P( -=
�O� �?0 0PलI �? �/K�( -�/? �?$? AP -�@.े䜂 _________ +A?)I �K +?0 -�/? �?$? AP। 
 

A. 9K:0? B. ?K00I 

C. +�}�I ल? D. 9K0I+? 
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Q29. Because of the sandy soil found in the Bhiwani district, ___________ is majorly grown 
here. 

 

A. Rice B. Wheat 

C. Cotton D. Bajra 

Q29. --=?(I -�लO .े䜂 +?/I �?(O =?लO 0O$IलI -.्䴾I �ी =�A @O, /A?
 �.J? z+ @O ___________ ��?/? �?$? AP। 
 

A. /?0 B. �O:ूK 

C. �+?9 D. -?�0? 
 

Q30. Haryana has classified cultivated area as tibba or sandhills and tal or hard ground. 
Ploughing is especially _______________ in tal. 

 

A. Easy B. Done using bullocks 

C. Not needed D. Difficult 

Q30. Aर0/?#? �K -�m?? /? @ै䠂!-Aल㉍@ �0 $?ल /? A?!? ्䵇?�
! �O  z+ .े䜂 �L -? �O} �O  z+ .े䜂 =�I�L $ -�/? �/? AP। $?ल .े䜂 ?O$I �0(? -=>O? 
z+ @O ______ AP। 

 

A. �9?0 B. -Pलो䬂 �? �}?O??ल �0�O  ��/? �??? :P 

C. �z0? 0:I� D. �/?0 

 

Q31. ______________ and _______________ in Haryana produce good quality basmati rice. 
 

A. Panchkula and Sirsa B. Karnal and Kurukshetra 

C. Hisar and Rewari D. Ambala and Karnal 

Q31. Aर0/?#? �O  ______________ �0 _______________ .े䜂 
चᩍ�I �J#=m? =?लO ??@.$I ??=ल �? �=+?&( AK$? AP। 
 

A. +�}�I ल? �0 म909? B. �00?ल �0 �I y्䵌O} 

C. /:9?0 �0 0O=?)I D. 
�-?ल? �0 �00?ल 

 

Q32. Mahendragarh, Bhiwani, Sirsa and Hisar are all ____________ areas. 
 

A. Sandy B. Hilly 

C. Dry, rocky D. Fertile plain 
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Q32. .AOm��?, --=?(I, -@0@? �0 -A@?0 /O @? ____________ �O} Aै䠂। 
 

A. 0O?IलO B. +:?)I 

C. 9�ूO, }टὍ�?0I D. �+�?� ?P.?0I 
 

Q33. The current 13th Legislative Assembly of Haryana has ________________ members of 
Legislative Assembly. 

 

A. 90 B. 80 

C. 70 D. 60 

Q33. Aर0/?#? �ी .L�K&? 13=K -='?(@-? .े䜂 _____________ @&}/ Aै䠂। 
 

A. 90 B. 80 

C. 70 D. 60 

 

Q34. In the Haryana State Legislative Assembly elections held in 2014, Shri Manohar Lal 
Khattar won from _______________ constituency. 

 

A. Kaithal B. Faridabad 

C. Karnal D. Hisar 

Q34. 2014 .े䜂 AI� Aर0/?#? -='?(@-? ?J(?= .े䜂, ्䵦I .(KA0 ल?ल ?्䴾0 _______________ -(=???( �O} @O -=�/I AI� %O। 
 

A. �P -ल B. ,0I.?-?. 

C. �00?ल D. /:9?0 
 

Q35. Rice is majorly cultivated in Haryana in the ____________ belt. 
 

A. Karnal-Kurukshetra B. South-West 

C. Panchkula-Ambala D. North-East 

Q35. Aर0/?#? .े䜂 .J_/ z+ @O ??=ल �ी ?O$I ____________ .े䜂 AK$I AP। 
 

A. �00?ल-�I y्䵌O} B. .्䵌्䵌+-+]�}? 

C. +�}�I ल?-
�-?ल? D. �्䵈0-+=ू� 
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Q36. In Haryana, eucalyptus trees are planted along _______________ as it is a fast growing 
and sturdy tree. It also has economic value as it is used as pulpwood in industries. 

 

A. River banks and irrigation canals B. Highways and wasteland 

C. Paddy fields D. Cotton fields 

Q36. Aर0/?#? .े䜂, _______________ �O  -�(?0O /J�-लM�J@ �O  +O) ल�?� �?$O Aै䠂 ]/K-� /A $O�I @O ??(O =?ल? �0 .�?K$ +O) AP। 
�@�? �-%?� .A== -I AP ]/K-� �@�? �+/K� �oK�K .े䜂 लJ�&I �O  z+ .े䜂 -�/? �?$? AP। 

 

A. 0.I ?� �0 म9�}?� 0:0े䜂 B. 0?�??�� �0 -��0 .मू? 

C. /?0 �O  �O? D. �+?9 �O  �O? 

 

Q37. Good Year, the tyre company, in 1992, started its manufacturing plant in ___________ 
district of Haryana. 

 

A. Rewari B. Bhiwani 

C. Ballabgarh D. Sonepat 

Q37. �J! �/0, �?/0 �
 +(I (O 1992 .े䜂 Aर0/?#? �O  ___________ -�लO .े䜂 
+(? .P(J,P ]?र0
� Mल?
� ??लK -�/? %?। 
 

A. 0O=?)I B. म.=?0I 

C. -ल㉍ल.�? D. 9K0I+? 

 

Q38. A virus is treated as ____________ issue. 
 

A. Reliability B. Connectivity 

C. Security D. Lagging 

Q38. �� =?/0@ �K ____________ @.}/? �O  z+ .े䜂 .?(? �?$? AP। 
 

A. 0Iल?�--ल�I B. �0O]त�==�I 

C. म9त/9ू0�I D. लP���� 

 

Q39. What are all the main components of Central Processing Unit? 
 

A. Arithmetic logic unit, monitor B. Arithmetic logic unit, keyboard 

C. Arithmetic logic unit, control unit D. Control unit, mouse 
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Q39. @े䜂्䵏ल �K@O-@
� /K-(� �O  @-I .J_/  �� ]/? Aै䠂? 
 

A. 
90-?O/�� लI]�� /)ू0�, ?I)0�0 B. 
90-?O/�� लI]�� /)ू0�, �I-K)� 

C. 
90-?O/�� लI]�� /)ू0�, �� रKल /)ू0� D. �� रKल /)ू0�, ??�9 

 

Q40. Find the odd-one out in the following: 
Papaya, Mango, Guava, Pomegranate 

 

A. Papaya B. Guava 

C. Mango D. Pomegranate 

Q40. -(म⹍(-ल-?$ .े䜂 @O 
@
�$ �? ?/( �0े䜂: 
++I$?, �., 
.z&, 
(?0 

 

A. ++I?? B. 
?z. 

C. �? D. 
0?0 
 

Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 
the original pair: 
Hydrology:Water::Geology:? 

 

A. Plants B. Soil 

C. Planets D. Earth 

Q41. @AI -=�ल㉍+ ?J(े䜂 �K .Kल �K)I �P@? @म⹍?m' -&??$? AK: 
�ल -=_?(: �ल :: -K-=_?(:? 

 

A. +L/O B. म?टὍ�I 

C. ्䵇: D. +mृ=I 
 

Q42. Find the next number: 
1, 4, 9, 16, ? 

 

A. 22 B. 25 

C. 28 D. 30 
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Q42. 
�ल? (
?0 "K
"े䜂: 
1, 4, 9, 16, ? 

 

A. 22 B. 25 

C. 28 D. 30 

 

Q43. In certain code, if BEST is coded as ORFG, then BLOCK will be coded as: 
 

A. LOCKP B. LOMKB 

C. OYBPX D. CMPDL 

Q43. /-& �� �K! -??? .े䜂 BEST �K ORFG -ल?? �?$? AP $K BLOCK �K ]/? -ल?? �?��?: 
 

A. LOCKP B. LOMKB 

C. OYBPX D. CMPDL 

 

Q44. 
Solve:  

 

A.  B.  

C.  D.  

Q44. 

Aल �0े䜂:-  
 

A.  B.  

C.  D.  

 

Q45. Mohan covered a distance of 420 kilometers in 12 hour. Find the speed at which he 
travelled. 

 

A. 20 kilometers per hour B. 28 kilometers per hour 

C. 35 kilometers per hour D. 42 kilometers per hour 
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Q45. .KA( (O 12  
�O .े䜂 420 -�लK.I�0 �ी &K0I $/ �ी। �@�ी /?}? �ी �-$ -�$(I AP? 
 

A. 20 ��लK?I�0 �)?  ��? B. 28 ��लK?I�0 �)?  ��? 

C. 35 ��लK?I�0 �)?  ��? D. 42 ��लK?I�0 �)?  ��? 
 

Q46. Find the area of a square park whose perimeter is 240 meters? 
 

A. 780 square meters B. 1680 square meters 

C. 2420 square meters D. 3600 square meters 

Q46. �� =�??�?0 +?�?  �? �O},ल -(�?ले䜂 -�@�ी +र0@I.? 240 .I�0 AP? 
 

A. 780 =�� ?I�0 B. 1680 =�� ?I�0 

C. 2420 =�� ?I�0 D. 3600 =�� ?I�0 
 

Q47. Rs. 10,000 is invested at 12% per year as the rate of interest. Find the interest at the end of 
two year. 

 

A. Rs. 2,400 B. Rs. 1,640 

C. Rs. 1,200 D. Rs. 800 

Q47. �-$ =?? 12% m/?� �ी &0 @O 10,000 y+/O �? -(=O> -�/? �/? AP। &K =?? �O  

$ .े䜂 -�$(? m/?� -.लO�?? 
 

A. 2,400 y+/O B. 1,640 y+/O 

C. 1,200 y+/O D. 800 y+/O 
 

Q48. The mercury used in the thermometer does not stick to the wall of the capillary tube 
because of __________________. 

 

A. surface tension B. gravitational force 

C. osmosis D. friction 

Q48. %.??.I�0 .े䜂 �}$O.?ल AK(O =?ल? +?0?, __________________ �O  �?0# �O ->�? (लI �ी &I=?0 @O -?+�$? (AK AP। 
 

A. 9?: �? ?0?= B. �Iym=?�}�+ -ल 

C. +0?90+ D.  }�+ 
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Q49. The chemical symbol of gold is derived from ____________. 
 

A. Aurum B. Argentinum 

C. Ferum D. Stibium 

Q49. @K(O �? 0?@?/-(� �$I� ____________ @O -ल/? �/? AP। 
 

A. �0? B. 
�े䜂/�/? 

C. ,O 0? D. ]}�--/? 

 

Q50. There are ______ bones in an adult human body. 
 

A. 200 B. 206 

C. 216 D. 300 

Q50. �� =/}� .?(= >0I0 .े䜂 ______ A!M-!/?
 AK$I Aै䠂। 
 

A. 200 B. 206 

C. 216 D. 300 

 

Q51. Which one of the following is NOT a law of motion? 
 

A. Newton's first law B. Newton's second law 

C. Newton' third law D. First law of Thermodynamics 

Q51. -(म⹍(-ल-?$ .े䜂 @O �L( @? �� �-$ �? -(/. (AK AP? 
 

A. m/�ू0 �? +:ल? )0/? B. m/�ू0 �? .9ू0? )0/? 

C. m/�ू0 �? ?I90? )0/? D. -?ो)?/0?म?त9 �? +:ल? )0/? 

 

Q52. A machine is said to be ideal, if its efficiency is ________. 
 

A. 50% B. 70% 

C. 100% D. 90% 
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Q52. �� .>I( -�@�ी �?/?�.$? ________ AP, �@O �&>? �A? �?$? AP। 
 

A. 50% B. 70% 

C. 100% D. 90% 

 

Q53. SI unit of Force is _________. 
 

A. Newton B. Hertz 

C. Candela D. Celsius 

Q53. ?ल �ी SI ��?� _________AP । 
 

A. m/�ू0 B. :टὍ�ज़ 

C. �P m)Oल? D. 9Oल㉍9I/9 

 

Q54. In hydraulics, power is produced by: 
 

A. Moving air B. Moving liquids 

C. Moving solids D. Moving gases 

Q54. A?�्䵑K-ल]@ .े䜂 >-ि �? �=+?&(______ �?0? -�/? �?$? AP। 
 

A. �)???0 :=? B. �)???0 �= +.?-� 

C. �)???0 ?K9 +.?-� D. �)???0 �P9O9 

 

Q55. ___________ converts the mechanical energy into hydraulics energy by forcing fluid from 
the reservoir to the system. 

 

A. Valves B. Hydraulic pump 

C. Actuators D. Tank 

Q55. ___________ 0O@O=K�0 @O -@}�. .े䜂 �}/ +&?%? �K "�O ल�0 ��?? �K A?�्䵑K-ल]@ ��?? .े䜂 +र0=-$?$ �0$? AP। 
 

A. =?ल㉍=9 B. :?�्䵑Kमल� +�+ 

C. �त}I��0 D. �ै䠂� 
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Q56. In hydraulics/pneumatics systems the flow is controlled by: 
 

A. Pressure controlled valves B. Flow controlled valves 

C. Directional valves D. Tank valves 

Q56. A?�्䵑K-ल]@ / m/K.P-�]@ -@}�. .े䜂 �=?A �K -�@�O  �?0? -(/
-}$ -�/? �?$? AP? 
 

A. .-?= )0/�-}? =?ल㉍= B. �=?: )0/�-}? =?ल㉍= 

C. /.>?m?� =?ल㉍= D. �ै䠂� =?ल㉍= 
 

Q57. Which of the following is a heat treatment process? 
 

A. Annealing B. Tapering 

C. Turing D. Facing 

Q57. -(-म⹍ल-?$ .े䜂 @O �L( @I AI� ्䵏I�.े䜂� �-्䵅/? AP ? 
 

A. 
0Iमल�� B. �P+90�� 

C. टὍ/9ू0�� D. ,O म9�� 

 

Q58. Heating a metal to a temperature above critical temperature and then cooling slowly, is 
known as ________________. 

 

A. Normalizing B. Quenching 

C. Tempering D. Annealing 

Q58. -�@I '?$J �K ्䵅?
-$� $?+.?( @O �+0 �.? �0(? �0 -,0 'I0O-'I0O  
!? �0(O �ी �-्䵅/? �K _____________ (?. @O �?(? 
�?$? AP| 

 

A. 0K??�ल?�]��� B. त=े䜂�}�� 

C. �े䜂+90�� D. 
0Iमल�� 

 

Q59. The process of heating certain steel alloys which immersed in ammonia fumes is known as 
_________. 

 

A. Quenching B. Nitriding 

C. Tempering D. Annealing 
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Q59. 
.K-(/? �ी -?+ .े䜂 !J?K�0 }�Iल -.्䵦 '?$J� 
 �K �.? �0(O �ी �-्䵅/? �K ______________�O  (?. @O �?(? �?$? AP। 
 

A. त=े䜂�}�� B. 0?�र?�)) �� 

C. �े䜂+90�� D. 
0Iमल�� 

 

Q60. ' ' symbol represents: 
 

A. Stress B. Force 

C. Work D. Strain 

Q60. ' ' -?mA &>??$? AP: 
 

A. }रO9 B. फ़K9� 

C. =��  D. }रO0 

 

Q61. 

 

 

A. Stress B. Strain 

C. Area D. Cube 

Q61. ____________ = (�/?.K .े䜂 +र0=$?() / (.Kल �/?.) 
 

A. }रO9 B. }रO0 

C. �90/? D. त/-ू 
 

Q62. Tendency of a body to regain its original position within the limit is 
called________________. 

 

A. Elasticity B. Electricity 

C. Plasticity D. Rigidity 

Q62. @I.? �O  
m&0 
+(I .Kल -}%-$ +J(� �?्䵎 �0(O �ी -�@I -(�?/ �ी �=L-m �K __________ �A? �?$? AP। 
 

A. �ल?]}�म9�I B. �लO]तरम9�I 

C. Mल?}�Iम9�I D. 90]�))�I 
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Q63. Which of following are ceramic materials? 
 

A. Brick B. Tiles 

C. Glass D. All of the above 

Q63. -(म⹍(-ल-?$ .े䜂 @O @O0O-.� +&?%? �L( @? AP? 
 

A. ࠂई� B. �?�ल㉍9 

C. गᝍल?9 D. �+/I�त? 9.I 
 

Q64. Study of physical and chemical behaviour of metallic element is : 
 

A. Metallurgy B. Fluid mechanics 

C. Applied mechanics D. Fabrication process 

Q64. $== �O  -L-$� �0 0?@?/-(� }/=A?0 �? 
o//( AP: 
 

A. /??I�?� B. ?0ल /?�-}�I 

C. �Mल?�) ?P�O )0त9 D. ,O -?�O >0 �K9O9 

 

Q65. Response of material to the application of heat is : 
 

A. Thermal property B. Magnetic property 

C. Optical property D. Chemical property 

Q65. ��.? �O  �/K� �O  �?0# +&?%? �ी �-$-्䵅/?: 
 

A. -?�ल �I+ B. }I�-�I/ �I+ 

C. �]M��ल �I+ D. �O म?�ल �I+ 

 

Q66. In this process raw material melted, and heated to desired temperature and poured into the 
mould cavity is called: 

 

A. Casting B. Punching 

C. Grooving D. Kurling 
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Q66. �@ �-्䵅/? .े䜂 �चᩍ?? +&?%? -+ ल$? AP, �0 =?
-�$ $?+.?( $� �.? -�/? �?$? AP $%? .Kल㉍! �P -=�I .े䜂 !?ल? �?$? AP: 
 

A. �?]}��� B. +��}�� 

C. ्ू䵇==�� D. �मलि㼂� 

 

Q67. Which of the following are NOT a pattern materials? 
 

A. Wood B. Plastic 

C. Metals D. Glass 

Q67. -(म⹍(-ल-?$ .े䜂 @O �L( @? �� +P�(? .�Oर0/ल (AK AP? 
 

A. ल�)I B. Mल?]}�� 

C. /??I�� D. गᝍल?9 

 

Q68. Which one of the following is/are basic features of casting process? 
 

A. Pattern and mould B. Melting and pouring 

C. Solidification and cooling D. All of the above 

Q68. -(-म⹍ल-?$ .े䜂 @O �?-}�
� �-्䵅/? �ी .Kल-K$ -=>O?$?�
 �L( @I AP? 
 

A. +P�0� �0 ?Kल㉍) B. ?O]ल㉍��� �0 +K90�� 

C. 9Kमल)I�फ़�O 90 �0 �I मल�� D. �+/I�त? 9.I 
 

Q69. ___________ is a hot working process. 
 

A. Rolling B. Drawing 

C. Bending D. Hobbing 

Q69. ___________ �.? �?/? �0(O �ी �-्䵅/? AP। 
 

A. 0Kमल�� B. ्䵑?��� 

C. -O]m)�� D. :K--�� 
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Q70. Plastic deformation of a metal carried out at below the recrystallisation temperature, 
performed on the metals is termed as: 

 

A. Hot working B. Cold working 

C. Forging D. Fitting 

Q70. -�@I '?$J �O  Mल?-}�� �O  -=z+# �K +J(� -्䵅}�ल( $?+.?( �O  (I?O �0(O �K �A? �?$? AP: 
 

A. :I� =��ि㼂 � B. �Kल㉍) =��ि㼂 � 

C. ,K]�ि㼂� D. �,/��� 

 

Q71. Which one of the following is/are used in Cold working process? 
 

A. Drawing B. Hobbing 

C. Bending D. All of the above 

Q71. -(-म⹍ल-?$ .े䜂 @O �L( @?/@O �Kल㉍! =K-�? � �K@O@ .े䜂 �+/K� AK$O Aै䠂? 
 

A. ्䵑?��� B. :I--�� 

C. -O]m)�� D. �+/I�त? 9.I 
 

Q72. Joining of two metals by the application of heat is called __________. 
 

A. Fitting B. Welding 

C. Threading D. Punching 

Q72. ��.? �? �/K� �0�O  &K '?$J� 
 �K �K)(O �ी �-्䵅/? �K____�Aल?$I AP। 
 

A. �,/��� B. =O]ल㉍)�� 

C. }O)) �� D. +��}�� 

 

Q73. Materials used in soldering are__________. 
 

A. Tin and lead B. Copper and lead 

C. Copper and tin D. Tin and zinc 

 

 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 56, Machinist Grinder Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 17, 2019  Page 22 of 26 

 

Q73. __________ �	�?� .े䜂 �/K� AK(O =?लO +&?%? AP। 
 

A. /�0 �0 9I9? B. ??�-? �0 9I9? 

C. ??�-? �0 /�0 D. /�0 �0 �}?? 
 

Q74. Which of the following flames are used in welding? 
 

A. Neutral flame B. Oxidising flame 

C. Carburising flame D. All of the above 

Q74. -(म⹍(-ल-?$ .े䜂 @O �L( @? oलOम⹍@ =O-ल㉍!
� .े䜂 �+/K� -�/? �?$? AP? 
 

A. m/रूल oलOम⹍9 B. �त9I)?�म9�� oलOम⹍9 

C. �?-I�0?�म9�� oलOम⹍9 D. �+/I�त? 9.I 
 

Q75. ____________ is not a part of lathe machine. 
 

A. Bed B. Tail stock 

C. Head stock D. Abrasive wheel 

Q75. ____________ लO% .>I( �? -?� (AK AP। 
 

A. -O) B. �Oल }�I� 

C. :O) }�I� D. 
?Oम9= }:Iल 

 

Q76. Which operation is performed on lathe machine? 
 

A. Turning B. Welding 

C. Fitting D. Grinding 

Q76. लO% .>I( .े䜂 �L( @? �?/? -�/? �?$? AP? 
 

A. �)0ि㼂� B. =O]ल㉍)�� 

C. �,/��� D. ्䵇?��)) �� 
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Q77. The bed of lathe contains, head stock at one end and ______ at another end. 
 

A. Chuck B. Tail stock 

C. Drill bit D. Compound Slide 

Q77. लO% �O  ?O! �O  �� �K0 .े䜂 AO! }�Q� $%? &J@0O �K0 .े䜂 _________ AK$? AP। 
 

A. }� B. �Oल }�I� 

C. )्䵑ल --� D. �I �+?�� ) }ल?�) 
 

Q78. Grinding is a ______________ . 
 

A. Fitting Process B. Drilling Process 

C. Starting Process D. Finishing Process 

Q78. ्䵇?�
-!
� �� ______________ AP। 
 

A. �,/��� ��ि/? B. )्䵑मल�� ��ि/? 

C. }�?/�ि㼂� ��ि/? D. �,)0म>�� ��ि/? 
 

Q79. Shape of grinding tool is__________. 
 

A. Circular B. Horizontal 

C. Vertical D. Parallel 

Q79. ्䵇?�
-!
� �[?0 �? ��?0 __________ AK$? AP। 
 

A. �Kल?�?0 B. ्䵌P)?� 

C. ल�-=? D. 9???0?�?0 
 

Q80. Removal of metal by rotating the abrasive wheel is _________. 
 

A. Grinding B. Welding 

C. Joining D. Forging 
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Q80. ?J0&J0O ?]�O  �K  J.?�0 '?$J �K �%� �0(? 
%=? A�?(? ______ �Aल?$? AP। 
 

A. ्䵇?��)) �� B. =O]ल㉍)�� 

C. �I�)0�� D. ,K]�ि㼂� 

 

Q81. The process of making holes is called as ____________. 
 

A. ,O म9�� B. Turing 

C. Drilling D. Grinding 

Q81. -�� ?(?(O �ी �-्䵅/? �K __________ �A$O AP। 
 

A. Facing B. टὍ/9ू0�� 

C. )्䵑मल�� D. ्䵇?��)) �� 

 

Q82. ____________ is not a drilling operation. 
 

A. Welding B. Reaming 

C. Boring D. Counter boring 

Q82. ____________ -्䵑-ल
� �? �?/? (AK AP। 
 

A. =O]ल㉍)�� B. 0Oम?�� 

C. -K90�� D. �?�� �0 -K90�� 

 

Q83. Which of the following is a boring machine? 
 

A. Vertical boring machine B. Horizontal boring machine 

C. Jig boring machine D. All of the above 

Q83. -(म⹍(-ल-?$ .े䜂 @O �L( @I �� ?Kर0
� .>I( AP? 
 

A. ल�-=? -K90�� ?>I0 B. ्䵌P)?� -K90�� ?>I0 

C. ]�� -K90�� ?>I0 D. �+/I�त? 9.I 
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Q84. __________ is not a machining process. 
 

A. Shaping B. Milling 

C. Planning D. Arc Welding 

Q84. __________ .>I-(
� �-्䵅/? (AK AP। 
 

A. >O=+�� B. म?मल�� 

C. Mल?)0�� D. ���  =O]ल㉍)�� 

 

Q85. Milling is carried out in _________. 
 

A. Milling machine B. Welding machine 

C. Fitting machine D. Grinding machine 

Q85. -.-ल
� �K _________ .े䜂 -�/? �?$? AP। 
 

A. म?मल�� ?>I0 B. =O]ल㉍)�� ?>I0 

C. �,/��� ?>I0 D. ्䵇?��)) �� ?>I0 

 

Q86. In which machining process, circular shapes are not obtained? 
 

A. Turing B. Boring 

C. Drilling D. Hobbing 

Q86. -�@ .>I-(
� �-्䵅/? .े䜂, �Kल?�?0 ��?0 �?्䵎 (AK AK$O Aै䠂 ? 
 

A. टὍ/9ू0�� B. -K90�� 

C. )्䵑मल�� D. :I--�� 

 

Q87. What does "A" stand for, in CAD? 
 

A. And B. Aided 

C. Auto D. At 
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Q87. CAD .े䜂 "A" �? ]/? .$ल? AP? 
 

A. ��) B. �)O) 

C. ��K D. �� 
 

Q88. What does last "C" stands for, in CNC? 
 

A. Computer B. Control 

C. Components D. Communication 

Q88. CNC .े䜂 �-?0I "C" �? ]/? .$ल? AP? 
 

A. �� M/�ू0 B. �� रKल 

C. �I �+K0े䜂टὍ9 D. �म⹍/)ू0�O >0 

 

Q89. CAM stands for? 
 

A. Compare and manufacturing B. Computer and manufacturing 

C. Computer aided manufacturing D. Compare aided manufacturing 

Q89. CAM @
-�्䵎 z+ AP: 
 

A. �म⹍+/O0 ��) ?Pm/I,P त}90�� B. �� M/�ू0 ��) ?Pm/I,P त}90�� 

C. �� M/�ू0 �)O) ?Pm/I,P त}90�� D. �म⹍+/O0 �)O) ?Pm/I,P त}90�� 

 

Q90. Which operation is NOT performed in CNC machine? 
 

A. Milling B. Welding 

C. Laser cutting D. Moulding 

Q90. CNC .>I( .े䜂 �L( @? �?/? (AK AK$?? 
 

A. म?मल�� B. =O]ल㉍)�� 

C. लOज़0 �/��� D. ?K]ल㉍)�� 
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